ROYAL TIGERS SPORTS CLUB

Review of Club, Timeline and Development Plan

History

Royal Tigers Sports Club was founded in 2018 and currently plays in various leagues in Essex. In 2019 we joined the London Cricket League on Sunday. Our 1st and 2nd XI play in the London Cricket League (in the Premier division and Champion Division and we have an XI playing in the Victoria Park community cricket league (in the 3rd division). We have met with a great deal of success in all formats. We have had consecutive promotions in LCL and the VPCCL where we started in the 1st division and now this year have been promoted to the Premier division. In 2019 our 1st XI finished Runner Up in the 1st division and our 2nd XI finished 6th position in division 2nd. In the VPCCL our team finished Runner Up in the 3rd division and have been promoted to the LCL premier division as well.

Year in Review

In September 2017 our President had a vision to contribute to the local community by offering our clubs expertise and volunteer base to set up a children's cricket section where everyone would be welcome (see Appendix 1 – our development plan). This was driven by media reports and our own experience of high levels of child obesity and the gang and anti-social culturethatsome youngsters in the community are increasingly caught up in. To enable this vision we needed access to a cricket pitch with good facilities in the local area.

In October we met up with Essex Cricket and they told us of apotential site in _____Park. We met withEssex Cricket on 30 October to discuss this.At the meeting it was agreed that we would take on the ground as a trial run for one year to see whether we are suitable partners.

The proposal from Essex Cricket and the Local Authority was as follows:

- Start All Starscricket at the ground;
- Appoint a child welfare officer;
- Obtain Level 1 coaching qualification;
- Obtain first aid qualification;
- Safe guarding etc;
- Obtain a groundsman qualification.

In return:

- We would receive a one year provisional lease with the council for the ground;
- Local authoritywould prepare the square and bring it up to a good standard before handing it to the local council to maintain.
- Local authoritywould provide a roller during the week for any extra effort we wished to put in towards preparing the pitch.

It was agreed that the following matters were to be left outstanding and reviewed after the season end:

- There is nowhere to eat at the venue as the former pavilion
- The square cannot currently be cordoned off to help protect the wicket.

In November the club called a meeting and a couple of new appointments were made to the committee. The new committee was thus formed as follows:

President
Chairman
Secretary
Treasurer
Welfare Officer
General Manager
Colts Manager
Media Manager
Committee Members
The club then sent and to the Safeguarding courses at Chelmsford, whilst other committee members went to Chelmsford for the All Stars meetings.
On 12th December the Local Authority agreed to let us use the ground for the 2018 season.
Between January 2018 to March 2018 we carried out a great deal of admin work and attended courses including the second safeguarding course, 5 members to the All Stars training, 7 members to the Level 1 Coaching course, 2 to a first aid course.
On Sunday 11 March the club members went to the ground as the sightscreens were falling apart and the council informed us that if they weren't moved and repaired they would be scrapped on 18 March 2018. In cold snowy conditions the members went to the park and we managed to fix one sightscreen and paint it. The other sightscreen was damaged beyond repair and we informed the council of this. Surprisingly it is now September 2018 and the damaged sightscreen is still at the ground and has not been removed, even though we were given a deadline of 18 March.
n April 2018promoted its new cricket offerings for the community with The Exchange shopping centre in Ilford and Batfast and club members spent a couple of weekends promoting

our upcoming All Stars cricket atPark. We also made a promotional video with Batfast which was used on social media by Batfast and the Exchange.
From 29th April the club did a lot of work in the community. Our colts manager, volunteered his time for a local secondary school and went to School on a weekly basis coaching Years 7 and 8 on Mondays and Years 9 and 10 on Wednesdays. This was highly appreciated by the school. We also started youth cricket for children aged 9 and above on Sunday mornings. This was received warmly by the community and the kids enjoyed themselves immensely.
On Thursday 17 May began their All Stars program. This was a very successful program and we had 27 kids registered with the ECB. Due to its success we also had further children joining during the season. We ran the All Stars for 12 weeks (rather than the 8 weeks promised by ECB) to give the children more cricket and to give better value for money to parents in these times of austerity.
With our links to School we managed to attract some of their youngsters who went on to play for our 1st and 2nd XIs. We were also able to participate in the U19 cricket festival. It was a great success for the club to be able to put an U19 team out in our first year.
During August the under 11s participated in two cricket festivals, one at Snaresbrook and one at Chelmsford. The youngsters had great fun especially at Chelmsford where the cricket was played with music and under lights. As a result of the enthusiasm shown by the youngsters, we were proudly invited to be the 'Guard of Honour' at the Essex T20 game which was another enjoyable and memorable experience for the kids.
Sunday 5 August was a historic day as played its first ever U11 match against The game was played in a great atmosphere as the youngsters played their first ever 'competitive' game and really enjoyed themselves.
On Thursday 6 September we held our 12th and final All Star session. We presented medals and certificates to all the children and also awarded medals to our U11 team. Unfortunately, due to the rain we had to reduce the session and gave the medals early as we had nowhere to go inside once the rain hit.
Season Highlights
12 All Star sessions held 27 All Star members 11 coaching sessions held at Valentines School for years 7 to year 10. 16 Youth coaching sessions held 14 Youth members 5 Teenager training sessions held
U11 played one competitive game againstCC U11 competed in the festival U11 competed in the Essex Mini Matchplay festival
U19 competed in the T20 festival

Challenges faced by the club

unnecessarily and permissions	s not granted. We had problems getting access to the changing could not see what work was required.
atshe could.	_ was very helpful and understanding and she did as much as
the ground for the bank holiday was a farce as we were the hol of March. This resulted in us lo	tch and were drawn at home. We requested the council to book y, but they refused and pointed us towards This me club and had paid for the ground in advance at the beginning osing our home advantage and paying additional ground costs. ive a refund for the initial weekends that were cancelled by the

Pitch problems

At the beginning of the season the pitch started off in reasonable condition, however, it deteriorated very quickly. We spoke to the contractors and were told that at beginning of the season they had used a heavy roller and this really helped. They said they were unable to use the heavy roller after that due to financial constraints.

Also at the beginning of the season the outfield grass was not cut. This meant that the outfield was very slow as the ball was repeatedly stopped by the very long grass. After about four weeks the grass was cut but not removed, which again affected scoring as the ball would hit the pile of grass and stop. We had to remove the grass ourselves which took considerable time and effort as we did not have the right equipment to do so.

As a consequence of the lack of maintenance and preparation the pitch began to exhibit variable bounce and became difficult to play. Many players have been hitduring the season, with a few suffering injuries. Players have lost confidence in the pitch, with balls keeping low or else bouncing off a good length. Up to the midway point of the season we were 6 points behind the league leaders, but then fell away alarmingly in the second half of the season as the pitch continued to deteriorate eroding the confidence of our batting lineup. We also lost some members during the season who said they were not willing to play on such a unreliable wicket regularly as they had to go to work on Monday.

The square is already very poor and this is further ruined by footballers playing across the square. Despite us telling them regularly, they persisted to play football on the square and responded to our requestsby saying that if no one is supposed to play on it, then it should be cordoned off like at other parks.

As the pitch got progressively worse the club acquired a hand roller and the members rolled the pitchbefore each match. We requested the council to flood the square so that our rolling could take effect. The council said they needed to get that approved by the contractor and did

so. We arranged a meeting with the contractor and were shocked to see the small water sprinkler and a water pipe that we were given. They said that you can water it yourself and then do the rolling. They said that the square needs as much water as you can get on it. The club committee did a roster and we spent many hours (14+) in the week going to the ground and watering it. The sprinkler was small and would only cover 25-30% of one wicket so it was very time consuming.

To make things worse the contractor also gave us grass seed and loam and asked us to repair the ends and footholes after each game. We didn't feel that was part of our job as in effect the groundsmen did pretty much no work. They would just mark the wicket up and go. No cutting, no watering, no rolling. Our club members were having to do the majority of the work - what were we paying the council £95 per match for? We repaired the ends for a few weeks but then told the contractor that we could not continue to do the repairs. The result of this was that the ends also got progressively worse. On a side note many of our club members have been present in the park when the contractors came to work and many have noticed that they spend most of the time sitting in their vans before marking the wicket and leaving.

During the season we have had many umpires complain about the pitch. Some it to Cricket League and the Cricket League whilst have refused to umpire us at home. As a result of this our last few home we have had to play the games away at a neutral venue. To we had to spend extra money hiring pitches.	other umpires games in the
Moving forward we have been promoted to the division been told that we will not be allowed to play Cricket League ho Park as naturally the bowlers will be of a much higher standard i league. Therefore ensuring the standard of the pitch is of premier league paramount to the league and of course the club. We do not want to move our League games elsewhere as for the club to develop we have to have one base home cricket is played.	ome games at in the premier e standard is Cricket
Other challenges	
Another issue was that there was nowhere to eat teas. We had no choice but spread outside, which unfortunately attracted dogs, plus outside you have the inclement weather. The players ate their food whilst sitting on the floor. All of teams on Saturday have complained of this situation. The opposition teams als to drink water that had to be taken from the sinks in the shower/toilet area. The embarrassing.	e possibility of the opposition so did not wish
We also faced a similar situation on All Stars where we would often have more the and no proper pavilion to offer them. As we have no club house we have no furn have one bench which can only seat three or four parents. This resulted in part the floor, sitting on the sightscreen edges etc. This gave a very bad impression	niture. We only ents sitting on
We had a number of youngsters join our club who saw the above situationand to other clubs such as and who could offerthem much better	•
Review & Development Plan v1.01	Page 5

you can imagine this was very disappointing after all the hard work we have put in to create a youth structure and get the word out in the local community.

As a club we have started work towards the clubmark scheme. We have prepared many of the documents and have put into place many of the procedures, but we are held back as we don't have a clubhouse and have nowhere permanent to put the notice board up etc. We have about 70 - 80% of the clubmark scheme completed.

Our adult members are vital for the club as they allow us to subsidise the youth costs. We have noticed with some U17 members that they are from overseas countries and that they face financial problems at home. We have not charged them match fees etc as we don't want financial costs to be the reason for theseyoung cricketers to stop playing. This is done on an individual case by case basis.

For our U11 team we charge only £1 per session as we appreciate that many families are struggling in the current climate.

In a four month (May to August) period the club has volunteered over 293 hours to youth cricket development in the community (see Appendix 2 below). The members themselves have also contributed an additional 60 hours watering and rolling the square.

We as a club have a put a lot time, energy,	effort and money into this project and we require
help from Essex Cricket and Co	uncil to take our efforts forward. We have reached
a ceiling and need assistance to take it to	o the next level. Our aim was always to create
something that would benefit the local comr	nunity – we are committed to this vision.

Membership

During the season we gained 13 players from the local area and Valentines school. These members played in our first and second teams in the _____CL and in the ____CL. Unfortunately we lost six players as they were not happy with the facilities and the pitch. This is a concern because it gives our club a bad reputation of having poor facilities and also risks us losing further members if things don't improve.

What we need

- A better wicket where the bounce is consistent. Currently the average team score each week is under 140.
- A place (clubhouse) where we can eat our teas inside. We can also then put furniture in the clubhouse which the parents can use on All Stars evenings etc.
- A sit-on roller and a place to store it on site. We are willing to contribute towards the purchase cost. This is dependent on the pitch being improved.

Conclusion

		both the club and for Essex/ m sustainable community cricket club.	_ council to get into
	ndices Appendix 1	Cricket Club - Development Plan 20	18 to 2023
•	Appendix 2project by our member	Cricket Club in the community -	

APPENDIX 1 - _____ Cricket Club - Development Plan 2018 to 2023

1.0 Introduction

This document represents the club development plan of _____ Cricket Club over the five-year period from the end of the 2018 season to the end of the 2023 season. This Development Plan is a statement of the aspirations of the club and will provide a framework for the Clubs activities over the period. This plan has been approved by the Executive Committee of the club.

1.1 Club motto and vision :-

At the Royal Tigers Sports Club, we uphold a culture of excellence and integrity, guided by our unwavering commitment to zero tolerance for any form of misconduct or inappropriate behavior. Our core values revolve around fostering a safe, inclusive, and respectful environment for all members, ensuring that our club remains a beacon of positivity and growth within the community.

Central to our mission is the prioritization of youth development, recognizing the pivotal role that young individuals play in shaping the future of our country and community. Through our comprehensive sports programs and initiatives, we aim to actively engage youth in constructive and enriching activities that not only promote physical well-being but also cultivate essential life skills and values. By instilling a sense of discipline, teamwork, and perseverance through sports, we strive to empower the youth to become responsible, confident, and contributing citizens who can positively impact society.

In alignment with our commitment to nurturing the potential of young people, the Royal Tigers Sports Club takes a firm stance against knife crime and other forms of violence plaguing our communities. We firmly believe that by providing alternative avenues for recreation, skill-building, and social interaction, we can steer individuals away from negative influences and towards a path of personal growth and fulfillment. Through outreach programs, mentorship opportunities, and a welcoming ethos, we extend a warm invitation to young people to join our club family—a place where they can find camaraderie, guidance, and a platform to excel in their chosen sports.

At the Royal Tigers Sports Club, diversity and choice are celebrated, reflecting our belief in the power of sports to unite individuals from all walks of life. Whether one's passion lies in cricket, badminton, football, karate, or any other sport, our club offers a supportive and nurturing environment where members can pursue their interests, hone their skills, and forge lasting friendships. By encouraging young people to explore their talents and interests through sports, we aim to create a vibrant community of individuals who not only excel in their chosen disciplines but also contribute positively to the fabric of society.

In conclusion, the Royal Tigers Sports Club stands as a beacon of opportunity, empowerment, and camaraderie, dedicated to shaping the youth of today into the leaders of tomorrow. Through our steadfast adherence to principles of respect, inclusivity, and youth development, we strive to make a meaningful impact on our country and community, one young athlete at a time. Join us at the Royal Tigers Sports Club, where sportsmanship, unity, and personal growth converge to create a brighter future for all.

2.0 Club history

	Cricke	t Club was founded in 2014	and currently pl	lays in variou	is leagues in Essex
We play i	in the _	Cricket Leagueon	Saturday and	the	_Cricket Leagueon
Sunday. V	Ve have t	two teams in the ECCL an	d from season 2	2019 will hav	e two teams in the
	CL. W	e are currently the only clu	b who plays in t	the	division of both the
leagues.					

We run an All Stars Programme and ayouth section for boys aged 9 and upwards. We also have a group of U16 cricketers who play in our adult teams. Club membership is open to all as defined in our constitution. Our club was formed by a group of tight-knit players who have played cricket together for many years, decades in many instances.

We are a club that boasts a sound financial footing. The club is managed by a group of professionals (our club president is a chartered accountant) – who also play in the various teams. We have no debt, and are easily able to meet our financial commitments to both the Essex League and the NCL, and to our ground.

3.0 Our Mission

Our mission is to provide a friendly club atmosphere, where everyone is welcome to play cricket in the true spirit of the game. We are committed to excellence in cricket, and to creating a stable club with a long-term vision. We also aimto create an environment that is highly beneficial to the local community. We intend to continually improve the ground and facilities and create opportunities for all so that we improve the standards of cricket in ______. We believe that we will be able to provide a steady pool of talented cricketers to feed into the Essex County system. Our long term vision is to expand ______ Cricket Club so that it becomes one of the most well-known clubs in the region, offering an excellent standard of cricket to amateur cricketers of all ages and abilities.

3.1 Our core objectives

- To play and promote cricket, providing opportunities for recreation and competition regardless of ability
- To provide the best playing facilities possible for a local club in Redbridge so that players at all levels can benefit
- To play and promote cricket within the 'spirit of the game'
- To offer coaching and competitive opportunities in cricket to a wide range of age groups
- To ensure a duty of care to all members of the Club by adopting and implementing the ECB 'Safe Hands – Welfare of Young People in Cricket' Policy and any future versions of the Policy
- To implement the ECB 'Club Inclusion and Diversity Policy' and any future versions
 of the Policy, ensuring that all present and future members receive fair and equal
 treatment.
- To manage our club pavilion and club grounds, and seek to continually improve the same

4.0 Club structure

The club is managed by an Executive Committee comprised of the following officers:

• President :- Pabel Chowdhury

Secretary :- M E R PAKKU

• Treasurer :- MUSHAYEKUR RAHMAN

• Club Manager :- AZHARUL ISLAM ADNAN

Welfare Secretary:- Jamil Ahmed

5.0 Our facilities

5.1 Current facilities

Our ground is located at:

The setting is in the heart of the local community and perfectly positioned to act as a local hub. The ground is scenic, and a tremendous asset to the club. The ground has great potential but needs work to bring it upto a good standard. Unfortunately we do not have a clubhouse and that is something we miss. Over the next five years our aim is to enhance the ground and our ability to maintain it with the following facilities development plan.

5.2 Future facilities - development plan

Our ambition is to continue to develop our facilities, so that they can serve as a long term hub for the community. Thus over this development period we will aim to:

- Improve the standard of the square, making the wickets more consistent.
- Invest in a heavy sit on roller to ensure we are able to maintain thesquarewith greater ease and efficiency
- Build more storage space to keep club kit and equipment safely and securely
- Develop a more usable kitchen area so that we can better fulfil the requirement of teas for away teams- A clubhouse would help immensely.
- Build an Officials Room, exclusively for the use of Umpires/Scorers on match days
- Consider potential income generating facilities at the club for the longer term

One means of securing funding for some of the above would be for us to apply to "Sport England – Inspired Facilities" for a ground development grant. We can also seek help from the Essex cricket board.

6.0 Youth development plan

Our club has an emerging youth programme. Our aim is to eventually run an Under-16 and U11 youth team. We have taken a conscious decision to encourage our team captains, with the agreement of parents, to pick youth players for senior friendly matches and,

occasionally, for senior league teams in lower division cricket. Our goal is to nurture a steady pipeline of talented young cricketers to play in our senior teams. We also encourage parents and players to take appropriate coaching qualifications so that we have in-house coaching talent to supervise the development of these young players.

6.1All Stars Cricket

We have taken the initiative to become part of 'All Stars Cricket', a vibrant program run by Essex Cricket to promote cricket for Under 8s and Under 5s. We have carried out the necessary set up for this activity and in the 2018 season we conducted a 12 week program. We will work with local schools, mosques, churches, and other community centres to encourage take-up of the activity.

7.0Community Development

One of our key aims is to become a social hub for the local community. Partly this is motivated by our desire to help parents in the community tackle the increasing incidence of obesity in young children by offering a safe environment within which they can be offered exercise in the form of cricket training, and other sports activities that can be held at the ground. We also want to give teenagers an opportunity to play cricket and to stay away from trouble etc. We want to keep them busy and for them to feel that they are a part of something big. Many of our players have children of their own – this will guarantee a good turnout for such activities. We have numerous volunteers who have already put their name forward to help with the community programme.

7.1 Community Development Activity

- Appoint a Community Development Officer to oversee the community programme
- Provide the ground for social activities such as craft fairs
- Provide ground for sports activities such as an annual cricket tournament involving local community members / schools.
- Establish and sustain a strong link with local schools
- Where possible and appropriate send our coaches to provide free 'taster' coaching for younger age groups in schools
- Share our development plan with local media forums (local newspapers, business associations, etc) to raise awareness

7.2 Royal Tigers Sports Club: Exemplary Community Service During the COVID-19 Pandemic

In the midst of the unprecedented challenges posed by the COVID-19 pandemic, the Royal Tigers Sports Club emerged as a beacon of hope and support for the community. Through their unwavering dedication and selfless efforts, the club not only upheld its commitment to sports but also demonstrated remarkable compassion and solidarity by extending a helping hand to the most vulnerable members of society. This article highlights the extraordinary work carried out by

the Royal Tigers Sports Club during the pandemic, showcasing their profound impact on the lives of many.

Supporting the Vulnerable:

As the pandemic took hold, the Royal Tigers Sports Club swiftly pivoted their operations to focus on supporting the most vulnerable members of the community. Recognizing the heightened risk faced by elderly citizens, the club mobilized a team of volunteers to provide essential groceries, medication, and emotional support to those in need. Through their dedicated efforts, the club ensured that no one was left behind, exemplifying the true spirit of community service.

Spreading Awareness:

Amidst the chaos and uncertainty brought about by the pandemic, the Royal Tigers Sports Club took on the vital role of spreading awareness about the importance of staying home and staying safe. Leveraging their strong community presence and social media platforms, the club disseminated crucial information about public health guidelines, hygiene practices, and mental well-being. By promoting a culture of responsibility and vigilance, the club played a significant role in mitigating the spread of the virus and protecting the health of the community.

Supporting NHS and Emergency Services:

In recognition of the heroic efforts of the NHS and emergency services personnel on the front lines of the pandemic, the Royal Tigers Sports Club launched a dedicated initiative to provide meals and essential supplies to these essential workers. By partnering with local businesses and volunteers, the club orchestrated a coordinated effort to express gratitude and support for those tirelessly working to save lives and maintain essential services. This gesture of solidarity not only uplifted the spirits of frontline workers but also demonstrated the club's deep appreciation for their invaluable contributions.

Legacy of Compassion and Resilience:

As the pandemic gradually recedes and society begins to heal, the legacy of the Royal Tigers Sports Club's remarkable actions during this challenging period will endure as a testament to the power of compassion, resilience, and community spirit. By embodying the values of selflessness, empathy, and solidarity, the club has set a shining example for others to follow, inspiring hope and unity in the face of adversity.

Conclusion:

In conclusion, the Royal Tigers Sports Club's exceptional work during the COVID-19 pandemic stands as a testament to the transformative impact that sports clubs can have on their communities. Through their dedication to service, compassion for the vulnerable, and support for essential workers, the club has exemplified the true meaning of solidarity and civic duty. As we navigate the road to recovery and rebuilding, let us draw inspiration from the Royal Tigers Sports Club's extraordinary efforts and continue to strive for a better, more compassionate world for all.

8.0Coaching Development

We aim to embody within the club a strong in-house coaching element. We will do this with the following activities:

- Train 4 new coaches on a one-day Level 1 coaching run by ECB with all attendees cleared via DBS checks
- Train 1 coach on a Level 2 course
- Encourage junior players to start out on the coaching pathway whilst still at school
- Encourageplayer parents to obtain coaching certificate, and then run junior teams

9.0Membership Development

We have approximately 34 seniorsregistered with the club. We also have a small band of past players who no longer play but actively support the club.

We aim to continue developing our membership by:

- Actively seeking new players for our senior teams
- Actively recruiting youth playersthrough our All Stars Cricket programme
- Increasing social members of the club with social activities such as barbeques during match days
- Increasing social events at the club, allowing us to recruit more social members
- We are aiming to put two teams out on sundays in the ______ CL.

1	0.	0	Sι	ım	ım	а	ry
---	----	---	----	----	----	---	----

This Development Plan states the aims of	Cricket Club over the next five
vears. It covers:	

- The foundational work already put in place by the club
- Our plans to develop various aspects of the club
- Our vision of becoming a social and community hub, committed to diversity and inclusivity

This plan will be reviewed on an annual basis, at the end of each season, and modified according to need.

PPENDIX 2 -	Cricket Club in the community – tim	e offered to this project
y our members		
CC IN THE COMMUNITY		Total
Review	& Develonment Plan v1 01	Page 13

	Total Hours	Activity	Kids	Coaches	Session	Volunt (min)
Sunday 29 April	9.30 - 11.45 15.00 -	Youth Training	8	3	135	405
Monday 30 April	16.35	Yr 7 &Yr 8	9	1	95	95
	9.30 -					
Sunday 6 May	11.45 15.00 -	Youth Training	8	2	135	270
Wednesday 9 May	16.35	Yr 9 &Yr 10	7	1	95	95
	9.30 -					
Sunday 13 May	11.45 15.00 -	Youth Training	9	4	135	540
Monday 14 May	16.35 16.35 -	Yr 9 &Yr 10	12	1	95	95
Thursaday 17 May	19.20	All Stars	32	8	105	840
	9.30 -					
Sunday 20 May	11.45 15.00 -	Youth Training	9	1	135	135
Wednesday 23 May	16.35 17.00 -	Yr 9 &Yr 10	11	1	95	95
Thursday 24 May	19.20	All Stars	22	4	140	560
	9.30 -					
SUNDAY 27 May	11.45	Youth Training	8	2	135	270
School Half Term	47.00					
Thursday 31 May	17.00 - 19.20	All Stars	24	6	140	840
	9.30 -					
Sunday 3 June	11.45 15.00 -	Youth Training	9	3	135	405
Wedensday 6 June	16.40 17.00 -	Yr 9 &Yr 10	12	1	100	100
Thursday 7 June	19.15	All Stars	23	6	135	810
	9.30 -					
Sunday 10 June	11.45 15.00 -	Youth Training	13	2	135	270
Monday 11 June	16.35 17.00 -	Yr 7 &Yr 8	10	1	95	95
Thursday 14 June	19.15	All Stars	19	6	135	810
	9.30 -					
Sunday 17 June	11.45 15.00 -	Youth Training	8	2	135	270
Wednesday 20 June	16.40	Yr 9 &Yr 10	11	1	100	100

	17.00 -							
Thursday 21 June	19.15	All Stars	25	5	135	675		
, , , , , , , , , , , , , , , , , , , ,								
	9.15 -							
Sunday 24 June	11.15	Youth Training	10	4	120	480		
Manday 25 Juna	15.00 -	Yr 7 &Yr 8	15	1	105	105		
Monday 25 June	16.45 17.00 -	11 / 211 8	15	1	105	105		
Thuirsday 28 June	19.15	All Stars	24	4	135	540		
·								
	9.15 -							
Sunday 1 July	11.25	Youth Training	10	4	130	520		
Madaaday 4 July	15.00 -	Yr 9 &Yr 10	11	1	100	100		
Wednesday 4 July	16.40 17.00 -	11 9 0 11 10	11	1	100	100		
Thursday 5 July	19.15	All Stars	25	5	135	675		
Sunday 8 July	Sunday 8 July No Training due to NCL T20 Matches being played in the morning							
	15.00 -	v = 0 v 0		_				
Monday 9 July	16.45 17.00 -	Yr 7 &Yr 8	12	1	105	105		
Thursday 12 July	19.15	All Stars	18	5	135	675		
, , , , , ,								
	9.15 -							
Sunday 15 July	11.25	Youth Training	10	3	130	390		
March 4611	15.00 -	V. 7.0V. 0	0	4	400	100		
Monday 16 July	16.40 17.00 -	Yr 7 &Yr 8	8	1	100	100		
Thursday 19 July	19.15	All Stars	16	5	135	675		
, ,								
	9.15 -							
Sunday 22 July	11.25	Youth Training	10	3	130	390		
Tuesday 24 July	17.30 - 19.30	Toopagars	8	1	120	120		
Tuesday 24 July	19.30 17.00 -	Teenagers	٥	1	120	120		
Thursday 26 July	19.15	All Stars	16	3	135	405		
	9.15 -							
Sunday 29 July	11.25	Youth Training	10	2	130	260		
Tuesday 31 July	17.30 - 19.30	Teenagers	8	1	120	120		
racsaay 31 July	17.30 -	rechagers	Ü	_	120	120		
Thursday 2 August	19.20	Youth Training	10	2	110	220		
	08.30 -							
Sunday 5 August	11.30	Colts match	10	4	180	720		
Monday 6 August	15.00 - 17.30	Youth Festival	7	2	150	300		
onday or lagust	17.30-	. Jacii i Calivai	,	_	230	300		
Tuesday 7 August	19.00	Teenagers	6	1	90	90		

Thursday 9 August	Rained off					
Tuesday 14 August Thursday 16 August	16.00 - 21.30 Rained off	Essex Festival	10	5	210	1050
Tuesday 21 August	17.30- 19.25 17.30 -	Teenagers	8	1	115	115
Thursday 23 August	19.20	Youth Training	12	2	110	220
	9.15 -					
Sunday 26 August	11.25 17.30 -	Youth Training	12	3	130	390
Tuesday 28 August	19.45 10.00 -	Teenagers U19 ECCL	8	1	135	135
Thursday 30 August	18.30	Festival	11	1	510	510
Thursday 6 Sept	5.30 - 6.45	All Stars	18	6	75	450
				=	6325	17635

APPENDIX 3 - CC JOURNEY IN PICTURES

NatWest Cricket Force

